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X 
	Y 
	Age group
	Model comparison
	F-values
	p-values
	R2adj 

	Humanness
	Trustworthiness/ reliability 
	Younger
	Fourth vs. third
	F(1, 78) = 1.205
	.276
	0.143

	
	
	
	Third vs. second
	F(1, 79) = 11.748
	<.001***
	0.141

	
	
	Middle-aged
	Fourth vs. third
	F(1, 78) = 1.837
	.179
	0.174

	
	
	
	Third vs. second
	F(1, 79) = 10.932
	.001**
	0.165

	
	
	Older
	Fourth vs. third
	F(1, 78) = 0.035
	.853
	0.125

	
	
	
	Third vs. second
	F(1, 79) = 4.220
	.043*
	0.136

	Humanness
	Friendliness/ approachability
	Younger
	Fourth vs. third
	F(1, 78) = 0.036
	.851
	0.169

	
	
	
	Third vs. second
	F(1, 79) = 19.161
	<.001***
	0.179

	
	
	Middle-aged
	Fourth vs. third
	F(1, 78) = 1.557
	.216
	0.182

	
	
	
	Third vs. second
	F(1, 79) = 12.046
	<.001***
	0.176

	
	
	Older
	Fourth vs. third
	F(1, 78) = 0.438
	.510
	0.152

	
	
	
	Third vs. second
	F(1, 79) = 3.646
	.060
	0.158

	
	
	
	Second vs. first
	F(1, 80) = 4.606
	.035*
	0.130

	Humanness
	Adorability
	Younger
	Fourth vs. third
	F(1, 78) = 2.070
	.154
	0.133

	
	
	
	Third vs. second
	F(1, 79) = 8.426
	.005**
	0.121

	
	
	Middle-aged
	Fourth vs. third
	F(1, 78) = 1.294
	.256
	0.167

	
	
	
	Third vs. second
	F(1, 79) = 11.054
	.001**
	0.164

	
	
	Older
	Fourth vs. third
	F(1, 78) = 0.940
	.335
	0.129

	
	
	
	Third vs. second
	F(1, 79) = 4.458
	.038*
	0.130

	Humanness
	Authoritativeness
	Younger
	Fourth vs. third
	F(1, 78) = 0.660
	.419
	0.098

	
	
	
	Third vs. second
	F(1, 79) = 0.950
	.333
	0.103

	
	
	
	Second vs. first
	F(1, 80) = 0.013
	.910
	0.103

	
	
	
	First vs. zero
	F(1, 81) = 11.362
	.001**
	0.114

	
	
	Middle-aged
	Fourth vs. third
	F(1, 78) = 0.120
	.730
	0.282

	
	
	
	Third vs. second
	F(1, 79) = 2.267
	.136
	0.290

	
	
	
	Second vs. first
	F(1, 80) = 1.720
	0.194
	0.278

	
	
	
	First vs. zero
	F(1, 81) = 32.038
	<.001***
	0.272

	
	
	Older
	Fourth vs. third
	F(1, 78) = 0.481
	.490
	0.049

	
	
	
	Third vs. second
	F(1, 79) = 1.759
	.289
	0.055

	
	
	
	Second vs. first
	F(1, 80) = 0.018
	.893
	0.046

	
	
	
	First vs. zero
	F(1, 81) = 5.958
	.017*
	0.057




